Transfer function

___ I T TTTTI I T TTTTI I I T TTTTI I I T TTTTI I I T TTTTI I T 1T
g L A A A A =
1
10 g e ffe sl =
2N AN T NN NN _
10° =
Q — -
.w - -
-3
It 0 T | 0 N SHRR U, THy | (N —=
c = =
@) — Z
g, F -
= O e || [ —=
5
0 e 1 e S
5 — H1:SUS-ITMY_MO_DAMP_V_IN1_DQ /H1:SUS-ITMY_MO_TEST_V_EXC
10 = H1:SUS-ITMY_MO_DAMP_V_IN1_DQ(REFO0) / H1:SUS-ITMY_MO_TEST_V_EXC(REFO)
I_.__ ] L il ] L L il ] L il ] L L rrttl ] L L rrttl ] L 11

N

10 1 10 10° 10°
Frequency (Hz)

=
o

*T0=30/01/2013 18:05:15 Avg=10 *BW=0.0117187




